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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827038438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270151041. 1
878270151042. 2
878270151043. 3

878270151044. 4

Question Number : 2 Question Id : 87827038439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270151045. 1

878270151046. 2

878270151047. 3



878270151048. 4

Question Number : 3 Question Id : 87827038440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km
) 720 km
) 740 km
)

(2
(3
() 540 km

ey

Options :

878270151049. 1
878270151050. 2
878270151051. 3

878270151052. 4

Question Number : 4 Question Id : 87827038441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

(2) 120 hours
(3) 108 hours
(4) 92 hours
Options:

878270151053. 1



878270151054. 2
878270151055. 3

878270151056. 4

Question Number : 5 Question Id : 87827038442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours

(3) 48 hours

(4) 56 hours
Options :
878270151057. 1
878270151058. 2
878270151059. 3

878270151060. 4

Question Id : 87827038437 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827038438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270151041. 1
878270151042. 2
878270151043. 3



878270151044. 4

Question Number : 2 Question Id : 87827038439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 409
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(3) 809

(4) 6092
Options :
878270151045. 1
878270151046. 2
878270151047. 3

878270151048. 4

Question Number : 3 Question Id : 87827038440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270151051. 3

878270151052. 4

Question Number : 4 Question Id : 87827038441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270151053. 1
878270151054. 2
878270151055. 3

878270151056. 4

Question Number : 5 Question Id : 87827038442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270151057. 1
878270151058. 2
878270151059. 3
878270151060. 4
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Question Number : 6 Question Id : 87827038443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270151061. 1
878270151062. 2
878270151063. 3

878270151064. 4



Question Number : 6 Question Id : 87827038443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151061. 1
878270151062. 2
878270151063. 3

878270151064. 4

Question Number : 7 Question Id : 87827038444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270151065. 1
878270151066. 2
878270151067. 3

878270151068. 4



Question Number : 7 Question Id : 87827038444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270151065. 1
878270151066. 2
878270151067. 3

878270151068. 4

Question Number : 8 Question Id : 87827038445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



8782701510609. 1
878270151070. 2
878270151071. 3

878270151072. 4

Question Number : 8 Question Id : 87827038445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151069. 1
878270151070. 2
878270151071.3

878270151072. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270151073. 1
878270151074. 2
878270151075. 3
878270151076. 4

Question Number : 9 Question Id : 87827038446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270151073. 1
878270151074. 2
878270151075. 3

878270151076. 4

Question Number : 10 Question Id : 87827038447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270151077. 1
878270151078. 2
878270151079. 3

878270151080. 4

Question Number : 10 Question Id : 87827038447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Fefetfigd # ¥ 19 51 R T el AW e G e § weegul e [om &7
) o o
2) G GfaHEA G
) foe oo & A R |
) e o & ferenfel = e
Options:
878270151077. 1
878270151078. 2
878270151079. 3

878270151080. 4

Question Number : 11 Question Id : 87827038448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270151081. 1
878270151082. 2
878270151083. 3

878270151084. 4

Question Number : 11 Question Id : 87827038448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ot Wiy v o ST e & wiferer faver & fou SEm TR 5 e =)
(A) THTHTH

(B) aMgeifese

(C) frtea

(D) #m

= fou o famredi @ @ g SR B T Ff0
(1) @ (A), (B) 3 (C)

() A (B), (C) & D

() o (A), (C) &R (D)

(4) 9 (A), (B) 9 (D)

Options :



878270151081. 1
878270151082. 2
878270151083. 3

878270151084. 4

Question Number : 12 Question Id : 87827038449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270151085. 1

878270151086. 2

878270151087. 3

878270151088. 4

Question Number : 12 Question Id : 87827038449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270151085. 1

878270151086. 2

878270151087. 3

878270151088. 4

Question Number : 13 Question Id : 87827038450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270151089. 1
878270151090. 2
878270151091. 3

878270151092. 4

Question Number : 13 Question Id : 87827038450 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151089. 1
878270151090. 2
878270151091. 3

878270151092. 4

Question Number : 14 Question Id : 87827038451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270151093. 1
878270151094. 2
878270151095. 3

878270151096. 4

Question Number : 14 Question Id : 87827038451 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151093. 1
878270151094. 2
878270151095. 3

878270151096. 4

Question Number : 15 Question Id : 87827038452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270151097. 1
878270151098. 2
878270151099. 3

878270151100. 4



Question Number : 15 Question Id : 87827038452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151097. 1
878270151098. 2
878270151099. 3

878270151100. 4

Question Number : 16 Question Id : 87827038453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270151101. 1
878270151102. 2
878270151103. 3

878270151104. 4

Question Number : 16 Question Id : 87827038453 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151101. 1
878270151102. 2
878270151103. 3

878270151104. 4

Question Number : 17 Question Id : 87827038454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270151105. 1
878270151106. 2
878270151107. 3

878270151108. 4

Question Number : 17 Question Id : 87827038454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151105. 1
878270151106. 2
878270151107. 3
878270151108. 4

Question Number : 18 Question Id : 87827038455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270151109. 1
878270151110. 2

878270151111. 3



878270151112. 4

Question Number : 18 Question Id : 87827038455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151109. 1

878270151110. 2

878270151111. 3

878270151112. 4

Question Number : 19 Question Id : 87827038456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270151113. 1

878270151114. 2

878270151115. 3

878270151116. 4

Question Number : 19 Question Id : 87827038456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151113. 1

878270151114. 2

878270151115. 3



878270151116. 4

Question Number : 20 Question Id : 87827038457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270151117.1

878270151118. 2

878270151119. 3

878270151120. 4

Question Number : 20 Question Id : 87827038457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270151117. 1
878270151118. 2
878270151119. 3

878270151120. 4

Question Number : 21 Question Id : 87827038458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options:
878270151121. 1
878270151122. 2
878270151123. 3

878270151124. 4



Question Number : 21 Question Id : 87827038458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270151121. 1
878270151122. 2
878270151123. 3

878270151124. 4

Question Number : 22 Question Id : 87827038459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270151125. 1
878270151126. 2
878270151127.3

878270151128. 4



Question Number : 22 Question Id : 87827038459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270151125. 1
878270151126. 2
878270151127.3

878270151128. 4

Question Number : 23 Question Id : 87827038460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270151129. 1
878270151130. 2
878270151131. 3
878270151132. 4



Question Number : 23 Question Id : 87827038460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270151129. 1
878270151130. 2
878270151131.3

878270151132. 4

Question Number : 24 Question Id : 87827038461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270151133. 1
878270151134. 2
878270151135. 3
878270151136. 4



Question Number : 24 Question Id : 87827038461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270151133. 1
878270151134. 2
878270151135. 3
878270151136. 4

Question Number : 25 Question Id : 87827038462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13-%
) B

(3) 10%

Options:
878270151137. 1
878270151138. 2

878270151139. 3



878270151140. 4

Question Number : 25 Question Id : 87827038462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270151137. 1
878270151138. 2
878270151139. 3

878270151140. 4

Question Number : 26 Question Id : 87827038463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270151141. 1
878270151142. 2
878270151143. 3

878270151144. 4

Question Number : 26 Question Id : 87827038463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270151141. 1
878270151142. 2
878270151143. 3

878270151144. 4

Question Number : 27 Question Id : 87827038464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(4

No reclzmgles are nonapalvgnn.

s |

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270151145. 1

878270151146. 2

878270151147. 3

878270151148. 4

Question Number : 27 Question Id : 87827038464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270151145. 1
878270151146. 2
878270151147. 3

878270151148. 4

Question Number : 28 Question Id : 87827038465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270151149. 1
878270151150. 2
878270151151. 3

878270151152. 4

Question Number : 28 Question Id : 87827038465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270151149. 1
878270151150. 2
878270151151. 3

878270151152. 4

Question Number : 29 Question Id : 87827038466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270151153. 1
878270151154. 2
878270151155. 3

878270151156. 4



Question Number : 29 Question Id : 87827038466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270151153. 1
878270151154. 2
878270151155. 3

878270151156. 4

Question Number : 30 Question Id : 87827038467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270151157. 1
878270151158. 2
878270151159. 3

878270151160. 4

Question Number : 30 Question Id : 87827038467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270151157. 1

878270151158. 2

878270151159. 3

878270151160. 4

Question Number : 31 Question Id : 87827038468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270151161. 1

878270151162. 2

878270151163. 3

878270151164. 4

Question Number : 31 Question Id : 87827038468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270151161. 1

878270151162. 2

878270151163. 3



878270151164. 4

Question Number : 32 Question Id : 87827038469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270151165. 1

878270151166. 2



878270151167. 3

878270151168. 4

Question Number : 32 Question Id : 87827038469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270151165. 1
878270151166. 2
878270151167. 3

878270151168. 4

Question Number : 33 Question Id : 87827038470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270151169. 1
878270151170. 2
878270151171. 3

878270151172. 4

Question Number : 33 Question Id : 87827038470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270151169. 1
878270151170. 2
878270151171.3

878270151172. 4

Question Number : 34 Question Id : 87827038471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270151173. 1
878270151174. 2
878270151175. 3

878270151176. 4

Question Number : 34 Question Id : 87827038471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270151173. 1
878270151174. 2
878270151175. 3
878270151176. 4

Question Number : 35 Question Id : 87827038472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270151177. 1

878270151178. 2

878270151179. 3

878270151180. 4

Question Number : 35 Question Id : 87827038472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270151177. 1
878270151178. 2

878270151179. 3



878270151180. 4

Question Number : 36 Question Id : 87827038473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270151181. 1

878270151182. 2

878270151183. 3

878270151184. 4

Question Number : 36 Question Id : 87827038473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
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T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270151181. 1

878270151182. 2

878270151183. 3

878270151184. 4

Question Number : 37 Question Id : 87827038474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270151185. 1

878270151186. 2

878270151187. 3

878270151188. 4

Question Number : 37 Question Id : 87827038474 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270151185. 1
878270151186. 2
878270151187.3

878270151188. 4

Question Number : 38 Question Id : 87827038475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270151189. 1
878270151190. 2
878270151191. 3

878270151192. 4

Question Number : 38 Question Id : 87827038475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151189. 1
878270151190. 2
878270151191. 3

878270151192. 4

Question Number : 39 Question Id : 87827038476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270151193. 1

878270151194. 2



878270151195. 3

878270151196. 4

Question Number : 39 Question Id : 87827038476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
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(

878270151193. 1
878270151194. 2
878270151195. 3

878270151196. 4

Question Number : 40 Question Id : 87827038477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270151197. 1

878270151198. 2

878270151199. 3

878270151200. 4

Question Number : 40 Question Id : 87827038477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151197. 1

878270151198. 2



878270151199. 3
878270151200. 4

Question Number : 41 Question Id : 87827038478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270151201. 1

878270151202. 2

878270151203. 3

878270151204. 4

Question Number : 41 Question Id : 87827038478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270151201. 1

878270151202. 2



878270151203. 3

878270151204. 4

Question Number : 42 Question Id : 87827038479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270151205. 1
878270151206. 2
878270151207. 3

878270151208. 4

Question Number : 42 Question Id : 87827038479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151205. 1
878270151206. 2
878270151207. 3

878270151208. 4

Question Number : 43 Question Id : 87827038480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
878270151209. 1
878270151210. 2
878270151211.3

878270151212. 4

Question Number : 43 Question Id : 87827038480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
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(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270151209. 1
878270151210. 2
878270151211. 3

878270151212. 4

Question Number : 44 Question Id : 87827038481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270151213. 1
878270151214. 2
878270151215. 3
878270151216. 4

Question Number : 44 Question Id : 87827038481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 T-11

( T afafa) (WIHH &)
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(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;
(1) (A1), (B)-(II), (O)-0), (D)-(IV)
(2) (A, (B)AIV), (C)-(I), (D)-(I)
3) (A1), (B}-(I), (O)-(IV), (D))
(4)  (A)HIV), (B)-(II), (C)-(1T), (D)-(T)

Options :

878270151213. 1
878270151214. 2
878270151215. 3

878270151216. 4

Question Number : 45 Question Id : 87827038482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270151217. 1

878270151218. 2

878270151219. 3

878270151220. 4

Question Number : 45 Question Id : 87827038482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151217. 1
878270151218. 2
878270151219. 3
878270151220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701619
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827038483 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827038484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270151221. 1
878270151222. 2
878270151223. 3

878270151224. 4

Question Number : 47 Question Id : 87827038485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270151225. 1

878270151226. 2

878270151227. 3

878270151228. 4

Question Number : 48 Question Id : 87827038486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270151229. 1
878270151230. 2
878270151231. 3

878270151232. 4

Question Number : 49 Question Id : 87827038487 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270151233. 1
878270151234. 2
878270151235. 3

878270151236. 4

:No

Question Number : 50 Question Id : 87827038488 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270151237. 1

878270151238. 2

878270151239. 3

878270151240. 4

Question Id : 87827038483 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Label : Comprehension
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878270151221. 1
878270151222. 2
878270151223. 3

878270151224. 4
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878270151225. 1

878270151226. 2

878270151227. 3

878270151228. 4
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Options:

878270151229. 1
878270151230. 2
878270151231. 3

878270151232. 4
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878270151233. 1

878270151234. 2

878270151235. 3

878270151236. 4
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